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handed over Answer Sheet and dealt with as
-an unfair means case. : :

" prohibited.

. The candidates are governed by all Rules and
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2,3-Dimethyl-2- bﬁtene can be prepared by heating
which of the following compounas with a strong
acid ?
() (CHy),C=CH-CH,-CHj
(2) (CH3)2CH CH,-CH=CH,
(3) (CH, )ZCH CH CH=CH,
CH3 :
(4 (CH,);C-CH=CHy
Gadolinium belongs to 4f5eries. 1t's atomic number

is 64 Which of the following is the correct electronic
configuration of gadolinium'?

1) [Xe] 4f75d%s?
@ [Xe] 4f5d%s2
@ [Xe] 48642
@  [Xe]'4s%s!

" The formation of the oxide ion, 02~ (g), from oxygen
atom requires first-an exothermic and then an |
. endothe‘rmic stepas shownbelow :

Og)+e -0 (g) A7H® = -141 K] mol ™!

O (g)+e =0 (g); A/H® = + 780k mol”?

Thus process of formation of 02~ in gas phase is
unfavourable éven though 02~ is isoelectronic with
neon. Itis due to the fact that,

(1)  oxygenismore e]ectronegative

(2) - addition of electron in oxygen results in larger |

size of the ion.
3) ‘electron repulsion outweighs the stability

gained by achieving noble gas configuration. | ‘
(4 O~ ion has comparatively smaller size than |

- Oxygenatom.

The number of structural isomers p0551ble fromthe | _.

molecular formula C;HgN is :

@ 2
@ 3
3 4
@ 5
If the equilibrium  constant  for
Ny(g) +O,(g) = 2NO(g) is K; the equilibrium

1 1 :
constant for 5 N,(g)+ E Oy(g) = NO(g) will be:

N

5CO

mﬁwza zﬁﬁm@ﬁmmml

r/ frafafes ¥ @ frg 9ifte = yag o & @y 7

(1) _' (CHy),C=CH~CH,~ CHy _
)

) - (CHa)yCH - CH,~CH=CH, /
() (CHgCH-CH-CH=CH, \ o Iy

_ CH3 " C - '\ T N
@ (CH),C-CH=CH, ' W

ﬂs‘lfﬁﬁw‘;fﬁvﬁ@wf%h THH! T -~
%) frefefaa 8 @ hefah ka8 SEHIEE
frRme? '

" [Xe] 4f75d1652 <E§
. [Xe]'ég‘ésﬁgj? M{J
@) [Xe] 4862 '
@ [Xe] a5t @ gy-@ :
SIFRIES ST 02 (g) 1 SN Yoy Q 774 & h'
Wﬁﬁm&?ﬂ@mﬂmﬁtﬂwﬁﬁﬁﬂﬁ (\
£t

: 'Q(g)'+ e -0 (g); 'AfHCf) =-141K mol™!.

07 (g)+ & - 0¥ (g); AH® = + 780k mol ™
ey sroren ¥ 02 1 o o R wELQ2-
ﬁmwawﬁ%l 7% frg o f arm § 7
: T AR T B ]
Wﬁm%vﬁsﬁﬂﬂ
|
W%mmﬁsww@aﬁ

SCO

www.FirstRanker.com

Which one of the following pairs of solutio
an acidic buffer?

(1) H,CO5 and Na,CO4

() H,PO, and Na;PO,

(3 HCIO,and NaClO; -

(4 CH;COOHand CHy;COONa

Aqueous solution of which of the foll

_¢ompounds is the best conductor of electric et

10.

11.

(
{3} Nylon-6
@

(1)  Ammonia, NH,

(2)  Fructose, CgHp,O4

()  Acetic acld; CG,H,0,

(4)  Hydrochloric acid, HCl.

Caprolactam is used for the manufacture of
(1)  Terylene
2 Nylon-6,6

4 Teflon' »

On heating which of the followmg release
most easily ?

1) MgCO,’
@ CaCO,4
(3) K;CO4
(4) Na,CO,

Strong reducing behaviour of H3P02‘is duet
(1). High oxidation state of phosphorus

(2)  Presence of two —OH groups and one
bond

(3)  Presenceof one —OH group and two
bonds )

(49)  Highelectron gain enthalp.y of phospt

Decreasmg order of stablhty of Oy, 07, O
OZ

1 0,>0;>0§>0;

@ 03505 >0; >0,

@ 03>0,>0;>0;

@ K
@ K
G i
74 l X
7 B

. - —_— - i
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13.

14.

15.

16.
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The number of water molecules is maximumin:
(1) 18 gramof water

(2) 18 molesof water

@ 18 molecules of water

4 .18 gré’-m of water

In which of the following palrs, both the species are

- notisostructural ? . 13.
(1)  NHy, PH; A ]I '

@) XeF,XeO,

A
AN
by

In the reaction with HCl; an alkene reacts iy

accordance with the Markovnikov's rule, to give a{{ 14,

product- 1-chloro-1- methy]cyclohexane Thei
possiblealkeneis: ) ‘
{

v/“
o

(4) diamond, Silico_n. carbide

@. Sicl, p,c1:

© CH,

@) (A)and(B)
CH,

Assuming complete ionization, same moles of
.which of the following compounds will require the'
least amount of acidified KMnO,; for complete -
oxidation ? :

1) FeC)0O,
@ FeNOy,
@) FeSO,

@ FesO,

Reaction of pheno! with chloroform in presence of _16-
dilute sodium hydroxide finally introduces which

() NH,PHy .

SCO

12, “ﬂﬁﬁﬁwmi:

() 18TE T A

Wlstﬁamﬂﬁ

(@) - % 18 e A
@ 18uM A

~8

XeFy, Xe Oy
@ sicl, PO
@ @ fafawn seEs

memmﬁm%

Tag &

AR FAG_1-Felll-1-1 Ll
FufE R R
H?/V\ U C\"'>

‘__..-d
(1) FGC204

@) Fe(NOp,

@) FeSO,
(4) FGSO3 ’
- Rt B fiEW SEREA % e T NaOH H Har

R freAfafea ¥ @ sfqa: a?h mmm

/CQJ'Q«,’

SCO
17.  The vacant space in bec lattice unit cel
1 2%
2 32%
() 26%
(4) 48%

18.  Which of the statements given below :
(1)  ONFis isoelectronic Wiﬂ"l O,N-
2) OFé isan o?ide of fluorine

©)

@

) CiyO, is an anhydride of perchl

) Oz molecules bent

"9," “The niame of complex ion, [Fe(CN)413-
(1)  Tricyanoferrate (IIf) ion

(2)  Hexacyaidaferrate (III) ion
()  Hexacyanoiron (ITI) ion
‘ (4) Hexa'cg"ail'\l'tgferrate (IIT) ion

20. If Avogadro. fumber N,, is.cha
" 6.022x10% mol~1 to 6. 022x1020 I
would change?

(1)  theratio of chemical species to ea

~ balanced equation.
()  the ratio of elements ta each
- compound.
@)  thedefinition of mass in units of
_ (4) themass ofvone mole of carbon.

21.  Which of the following statements.is ne
a nucleophile ?

(1) Nucleophiles attack low e~ den
) Nucleophiles are not electron se

()  Nucleophile is a Lewis acid
)

Ammonia is a nucleophile

22, Agassuchascarbon monoxide would b
to obey the ideal gas law at :

one of the following functional group ? 8

0] .— CHCL, (1) -CHCl, ® .(1) high temperatures and high pre:

2 —-CHO Ly ‘_ng__ (2}  low temperatures and low press:
3)  —-CH) - . ‘

@) 2 @ CHZCl (3)  high temperatures and low pres:

@ -CooH @ —CooH '

www.FirstRanker.com

(4)  low temperatures and high pres:
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23, Thehybndxzahonn Bived in complex [NH{CNY, 12~ | 23. qFd [Ni(CN)@j;WUT E Nl 28) 30.  Thefollowing reaction
cist . (At.No.Ni=28) 212 ¢
(]) d sp ! 'L
@ dzsp : 9 @ d2sp? o 3_@73'\ +c1\r<:> ReOR, O/ ﬁ
o e Tt Ty
(©) dsp‘} ) *) @ spd ﬁ - \\ is known by the name: -
3 : .
v(4) Sp - . . . wEad < gHaiaEE ¥ i TE =51 (1)  Acetylation reaction '
- 24.  The heat of combustion of carbon to COZ_ lp”j‘ _3935](]2”101%] FET O W@SSZgCO2 _ (2)  Schotten-Baumen reaction
~393.5 kJ/mol. The heat released upon formatio 9) . Friedel-Craft's reaction
) j SN &afta oo & - (3) - Friedel-Craft’sre
of 35.2 g of CO, from carbon and oxygen gas is : LAk . ) Perkin's reaction
. = erkin
1) —630K c 4 o, T ,U?/ _531051;] O (e (4) e .
(i) : :gilsslfj : . - (!' X —-315 k],l Q}‘ 40 — ( cb 31.  The sum of coordination nu}mber and
-'_'( ) J - ¢f +315K] : ) _number of the metal M in the
@.. +313 kJ ) ’ C [M(en), (C04)ICI (where en is ethylened:
25.  20.0gof a magnesium carbonate samp]e decomposes, 25. ﬂ_g_._—- Tﬂm}ﬁ ™ aﬂﬁ RAT 1 7 N
on heating to give carbon dioxide and 8.0-g: WWE@ WIEE’QHBOgWTﬁﬁW I 78 2 8 o QG’“
magnesium oxide. What will be the percentage:,; é?ﬂ T Ffifiram iﬁﬁﬁ—m =1 v ! ® 9 . \ <
purity of magnesium carbonate in thesample? C(o
1 60 1 ¢ 2 @ 6 ,
@ s gb’(fc 0 €0 \N 1 S .
@ 84 32.  Reaction of a carbonyl compound with
@ 75 0
@) 9 /\"7 @ 7 N0 0 following reagents involves nucleophili
v \ 4 96 o \ ) followed by elikilnation of water. There
| (AW Mg 2 (T. R : Mg=24) . (1)  hydrocyanic acid
26.  What is the mole frac’uon of the solute inal00m, i ' i
A Tt{?ﬁ_q 5 H Iphit
-aqueous solution ? : . ) 2 \ 1 00 m ety et A facta FF ; ¢ 8 sog,lflm h;clidrqgen :u phite
] (l) . 0.0354 - - (%‘) 0.0354 . : A a rlgnér reagen }
@ 00177 \ §& ;’) Q—g;/ 8(11%7— “\2:3;6‘0‘: 3/‘ @ hyld:-azine in presence of feet
By 0177 - solution
(4) 1770 W. . \ 33.  Which fthe followmg esters gets h
. ich one o
27 .. - The correct: statement regarding defect q(aﬁq.ﬁ_ér‘mu LKLY % niost easily under alkaline conditions ?
solids is ; L (1) m 29 T P~ rim ? OCOCH
(1) Frenkel defectis a dislocation deféct () T e 3 daee) v S o 3 o D (e
" () Frenkel defectis found in halides ofalkalme 3 Wﬂlﬁaﬁ e . N
. metals. ) i - ; < - 0COCH
@) - Schottky defects have no effecton the den51ty i ‘LMML : : : -3
of crystalline solids. R Wmﬂaﬂ B | @ . a |
(4" Frenkel defects decrease the densxty of h ' ’
" crystalline solids. ‘ i O/OCOCH3
28. Thestability of +1 xidation stateamong Al, Ga, In | 2 L"”“*“‘ o d © Al Ga, InTA T ¥ 6
and Tl increases in the sequence : A : ON
(1) Tl<In<Ga<Al (1)  Tl<In<Ga<Al &’ £2 - OCOCH,
Pt 0 ol
@) “Ga<In<Al<TI B Ga<ln<al< Hyco0™ ™
(4) Al<Ga<In<Tl (_(4"Al<Ga<In<Tl
29.  Twopossible stereo-structures of- 2. CHSCHOH COOH @1 <1 gonfem fafem deeE st 34, InanSyl reaction ‘°_" chira]‘ centres, ther
CH,;CHOH.COOH, which are We E, Fedml § : (1)  100% retention
called: i Lok SR O\s O (2) = 100% inversion
(1)  Enantiomers @ m ‘ \‘>\ (3)  100% racemization '
Mesomers (#y—inverstorrmore-tian retention |

‘(4) - Atropisomers

)
() * Diastereomers

B S -
eSO, ¢
> anker.com

partial racemization
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35. TherateconstantofthereacnonA—>Bl$06><10 3 =N A - B fagam W{'g Ovalo’ﬁ_ﬁw\ 41.  Which of the following is not t
mole per second. If the concentration of A is 5 TR AF GEa 5 MY d 20 R TR
then concentration of B after 20 minutes is: . %——- POl R A it A ) O/’v
; . dehydration of ?
M 036M (ﬂ AL a0 e - o %/ OH
@ 0712M ‘ . 079 M —IC “HE\ N .
@ 1.08M : }y 3. 108M vg - - : N
@ 360M S @ M\ ,/(6 wj @
. > .
36. . Whatis the pHof the resultmg solution when equal (36, 0.1 M NaOH & 0.01 M HCl ¥ A a1 fufaa
I volumesofOlMNa and001MHc1mrmxed?( i
1. 70 &w’ \\/ ® 70 » - @) :
@ 104 ‘\ 1 @ 104 - e o
@ 1265 (@) 1265 '
4 20 @ 20
@ _ \Gg . (‘) , . o o O/“\/
37. . Number of possﬂfe lsom g/complex '| 37. W [Co(e‘h)QCIQ] Cl® H‘l‘lﬁlﬁ prcpciicikieil
[Co(en),Cly] €1 will be: en= etiry enedlamme . Mt (en=SaaTeREAA) )
®m 3 , ( )y 3 -
@ 4 7( ( : @, 4 @. _
@ 2 /be \—('55 2
@ 1 ' 9 i ¥ 1 : .
o o : i 3 qfad > - 42.  Method by which Aniline cannot b
38.  The variation of the boiling pomts of the hydrogen 88 ® 5%,@@_“ 1 RAEEl & T “_.5'71} & %A frA e : Y nnot be
halides is in the order HF > HI > HBr > HCl. - HF > HI>HBr > HA (1) ‘reduction of nitrobenzene v
What explains the higher boﬂmgpomt of hydrogen gﬁ@ﬁw o IS FI FAYAIF ] AT FE? ethanol.
? .
fluoride’ o ciecates s meater | . @ " g o 9 o 3 9 TR BT @ (@) potassium salt of phthalimis
() Thebondenergyo HF molecu ?5 is grea er o - ot B » chlorobenzene followed by h
tha:: in other hydrogen halides. - . aqueous NaOH solution”
2 The effect of riuclear shielding is much ; (2 TARIA T TR T JTAEI0 oTs 5gd FH ¥ )
".reduced in fluorine which polanses the HF ; v SEEHF Y i yfam A ¢ © (3 hydrolysis of phenylisocyani
molecule.- A 't ‘33 i i E T T @ TR : solut}on.
e The electronegativity of fluorine i much- o AR (@  degradation of benzamide 5
higher than for other elements in the group. g0 St eldl alloline'soluti
! " HF maﬁ m@ﬂmjﬁ] '%l aline-solution.
{4)  There is strong hydrogen bondmg between
HF molecules. )
WE 50mL, 16.9% AgNO;ﬁ»‘WHﬁM% _
- o 43.  Which of the following reaction(s) c
-39.  What is the mass of the precipitate formed when ( NalT% foe Torerart & e fifa e e TR T AR the preparation of alk)gl e § )
50 mL of 16.9% solution of AgNO; is mixed with mw L7
0l of5.8% Nacl solution (Ag=107.8, N=14,0=16Na=23,Cl=355) @® CH,CH,OH+HCl _anth Z
(Ag=1078,N=14,0=16, Na=23,Cl=355) 0 € “7 2 —
1) .
M 78 @ g M CH,CHOH+HCO ___|
il © e (M) (CHy)sCOH+HCO |
@ 28g @ 35g .
4 35g . i
). 40, T 3t TR ﬁ ufeufa § axﬁa F1 vzo5 B V) (CH,),CHOH+HC| _ anh.2
H 40  The oxidation of benzene by V,0s in the presence of
l i d : 1 onl
| @) enotcacid e o e
‘f - . CE @  (M)and (IV)only
(2)  benzaldehyde (,y‘
() _ benzoicanhydride < wm} ®) (0 (mand 1V)only
(9  maleicanhydride - @ - rEd CRESES @

({)and (II) only
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44, Which is the correct order of increasing energy u 44. a@ﬁqq H] % foll T8 ware] ot @m REd 50. Most animals that live in deep oceanic w
the listed orbitals in the atom of titanium? o)
: L o PR ) ?@E FAWE? (1.8 z= =22) (1)  detritivores
(Atn0.Z=22) CEﬁ/ () 3s3p3d4 — .
() 3s3p3d4s . Ay 3 3s3pds 3d i PN ) (2)  primary consumers
2 35.3P 4s3d S 35 85 3p 3d o~ j A\W’r B secondary consumers
y @) 4s3s3pad V
(@ 3s4s3p3d : . (4) tertiary consumers -
@) 4s3s3p3d 45, W@Wﬁ@w%ﬁmﬁmaﬁm
. Lo : ' %T:i < fird g wﬂﬂm—ﬁﬁ 51.  An association of individuals of differe
45.  Inthe extraction of copper from its sulphide ore, the o 22 . Anasy : y
alie i : - AT living in the same habitat and having
metal s finally obtained by the reduction of cuprous . Q\)»};% o g Im o
oxide with: O BR() TCHES 7 interactions is :
) coppef(l) sulphide. TR SRATFIRE (1y Population
)  sulphurdioxide @) ST FeREE ‘@  Eeological niche
(3  iron(ll) sulphide | @) A THEEE @ Biotic community
4 bon monoxide X N ¢
CY carbon Xide ‘ C} mi$ﬂ EQ W Laa; e 4) TEcosystem
46. - Root pressure develops dueto: . . (€Y _ e J g & 18l . ]
(1) Increase in transpiration Hﬁf‘;@ﬁm L 52. Theoxygen evolved durmg photosyntt
. ; : : < m_gg:gmﬁ . from water molecules. Whith one of th
(2)° Activeabsorption v ; . _ ! pairs of elements is intvolved in this reac
(3  Low osmotic potential in s0il 7 4 w ‘ _ )
: ' o (1) Magnesium and Chlorine
(49)  Passive dbsorption gn, Frstafee 49 SR @ EE S lori
’ . i : 2) . Manganese and Chlorine
honei e A 1 Yiaet] # ofeRd a 3 c m@é’&frﬁﬁ '
47 Whickone isa wrong statement? s bm () :&_C—/_’ ke - (3 Manganese and-Potassium
4] Brown algae have chlorophyll a and c, and¥ . o i
- fucoxanthin ZIR @  Magnesium and Mo]ybdenum
)  Archegonia are found in Bryophyta, o o e ¥ = _ '
Pteridophyta and Gymnosperms (3 Mﬂmﬁﬁm @?\I g1 53,  Axile pla_centa'tion is presentin :
() Mucor has biflagellate zoospores @ __‘ggvm S ) T B s e ' " .Argemb .
‘4 Haploid endosperm is typical feature of ] m ) ’ o
E gymnosperms (2 Dmnthus :
' _ | 48. ﬁ'ﬁfﬁﬁaaﬁ@mmmmmaﬁaﬁﬁmﬂ @ Lemon
48.  Which of the following structures is not found ina | m el et 2 —
prokaryotic cell ? (1) ‘nh_cﬂ )  Pea
(1)  Plasmamembrane X v
()  Nuclearenvelope : -~ 54. In which of the following both pairs !
(3) Ribosome @ . combination ?
: 4 HEEE (HEEE) »
(4)  Mesosome . i » o TGaseous nutrient cycle Sulphurand
) » - . 49, m I &\Iﬁ'@ m"ﬁ?ﬁa m'mﬂ:ﬂ:ﬁ a Edimentary nutrient cycle “|Carbon and }
49.  Which one of the following animals has two ww T EW Carbonand T
separate circulatory pathways ? —_— @ : 3
) Sedimentary nutrientcycle  |Sulphurand
(M), Shark o e [ Geseovsnuienteyile __ Carbon and
(2) Fmg (2) ® Sec{imentary nutrient cydeﬁ Nitrogen and
By tivard ‘ @) fovart Coseusouigentcyde __ [Nimogen anc
%) - Whale ’ o : w“ : o  [Sedimentary nutcentcycle  (Carbonand]
| ~ www.FirstRanker.com

e e S B PR P




:l » FirstRanker.com

Eirstranker's choice www.FirstRanker.com www.FirstRanker.com

A 1 SCO SCO

" 55.  In mammalian eye, the ‘fovea’ is the center Wﬁ Wﬁ% EE] 1?l RCinN (fﬁTﬁRﬂ) ;ggﬁz,am = 61.  Cellular organelies with membrane
visual field, whgre: tw (1) lysosomes, Golgi 2p
(1) morerods than cones arefound. ' ?Tﬁ'??’ﬁ = eﬁyﬂ TEER s AT mitochondria
)  high density of cones occur, but has no rods. m m‘n’ﬂ = sgan s A % ﬁfm""'l W @  nuclei, ribosomes and niitoc
[€)] the;éoptic nerve leaves theeye. 7 EﬁT 1 (3)  chromosomes, ribosomes as
@ . onlyrodsarepresent. ?"fﬁ Hﬁﬁl T -é TR ﬁwﬁ’l %)a : . reticulum

o m m]?ﬂq 4y endoplasmic reticulum, ribos

56.  Choose the wrong statement : ) w -— e E ® P

~ () Yeastisunicellular and useful infermentation |- 4§, ﬂﬁﬁ Fe[ FI AT :

e ﬁeqmﬁmﬂ%ﬁ iﬂwﬂnﬁ"‘t/

62. Cell wallisabsentin:
@) Penicillium is multlcellu]ar and produces

antibiotics ) ?GTR (1y  Nestac .
3 ' Neyrospora is used in the study of biochemical 4 :_ W%l — . @ Aspergilus
genetics . @3y Funarin
qwﬁq?vaﬁ@iawmsﬂaﬁraﬂﬁ swrgs o
, @ ° Morels and trufﬂes are poisonous [
i mushrooms

S‘Pﬂ“‘T m SR : @ Mycoplasma

mﬁamwaﬁ@mv o W saton
v nww‘:ﬁ__——)-“""'” v (@) TH.Morgan
LR oo
. .vlende
O o @ m |
‘Prerfeiian A R fima R e 3 zﬁm@ 64.  Which of the following biomolec

phosphodiester bond ?

| 57.  Which of the following are notmembrane bound7 _; ‘ : 63, 'Theterm ”linkage” was coined by
\ " @) Mespsomes . ' ‘

) tZ) Vacuoles
P ‘ {3 Ribosomes

(4  Lysosomes

: ‘ /58 Inwhichof the following interactions both partners
areadversely affected ? 3

l\ (1)) Mutualism
" . ) (2)  Competition

TRNHIRS ’ (1)  Nucleicacids in a nucleotid

. L X ) . 7} Fatty acids in'é diglyceride
e (3 Predation , b A . B R &Y
‘ E ' (4)  Parasitism - . ‘ B O . (3)  Monosaccharides in a poly:
; :. . . : : R i ) 4)  Aminoacids ina polypepti
59. A colour blind man marries a woman with normal | . . ‘ :

\ - - sight who hasno history of colour blindness in her 59‘ WM ) . M T el %.E -é'. 65. The primary dentition in hum
" family. What is the probability of their grandson_{= 91§ ¥ & AR v oy A " sermanent dentition in not ha
j being colour blind ? = | ¥al vt QR ey 2% ) g 82 Elon: -

following type of teeth :

1?‘ ) 025 : ®» 025 w\\j X\ x , (1) Incisors
| @ o5 - @ 05 A ' VA (9 Canine
KR X

® 1 | ; 2 Promol
. S olars
LURGICIRIE ¥ 4) Molars

Il @ Ni s
| ‘! 60. Ectoplc pregnancies are referred to as- /4 @ S gis & srege PR dm AW
b () - Pregnancies terminated due to ho % T : 66.

A protaplastis a cell :

L
H imbalance. : w/m fort e e 21 P withQutcell wall .
| P . T " . . ~ ’
‘. {‘ : 2) . Pregnénc1es with geneticabnormatlity. . @ f % o “{W T S A ) witlwmbra“e
o (3) Implantation of einbryp at site other than . .
‘  terss, : iy (3)  without nucleus
v e Imptar = . {4—umdergoing-division

o \ : ' www.FirstRanker.com
L _ :
i N - _ -




67.

68.

69..

70.

71.

72.

In which group of organisms the cell walls form
two thin overlapping shells which fit together ?

M
@
@)
)

. The DNA molecule to which the gene of interest is
integrated (or cloning is called :

m
2)
3)
4)

—~ ey —

Male gametophyte inangiosperms produces :

M
)
3
@

Coconut water from a tender coconut is :

1 -
?)
)
@

The species confined toa parhcu]ar reglon and not
. found elsewhere i is termed as:

o
2
¢
“)

Metagenesis refers to :

~ Three sperms

“Innermost layers of the seed coat

. FirstRanker.com
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Slime moulds
Chrysophytes
Euglenoids

Dinoflageliates -

Carrier
Transformer
Vector -

Template

Two sperms and a vegetative cell-
Single spermand a vegetétive cell

Single spermand two vegetative célls

Degenerated nucellus
Immatureembryo

Free nuclear endosperm

Rare
Keystone
Alien

Endemic

Presence of a segmented body and

67, it ¥ form e A Fifir fufs < gael on feardt
woe| #) Al gl § A uwg At A €

S () 3rES FEE

Ry’ HEEEE
(@) TeiHEe
@) EPFTRITTR

68, ¥ ELTAL I A = FEd ¥ P e & fw
WWG{H@WWW@

@l—ﬂﬁk/@

189,

@ m\p

@mm%’
M '“EEEEI
WM
(@) T YT 3T T i FferH
@ YT SR S i wE

| 70, R e o 22

1) U SIS EHE
@  Safess ym
- TR S Y
@ o # wa s awe A

" w@@mm@@

RuiciRGTR eI i el IRl 27
Lo
HIE
@ fws

72, SERRTER (wisimw) e HFa @t
(1) T FEe W 3 T 1 st e

5.

www.FirstRanker.com
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73.  The enzyme that is not present in succus
is

(1) lipase
(2) - maltase
.(3) nucleases

4) nucleosidase

74. Eutrophlcatlon of water bodies leading tc
fishes is mainly due to non-availability o

(1) oxygen
@) food
@) light -

(4) . essential minerals

The function of thig gapjunetion is to

(1) stop substa nce from leaklﬁg acros

‘ 2 performmgcementmg to keep neig
' cells together.

{3 facilitate communication between
" cells by connecting the cytoplasm
transfer. of ions, smail molecules

large molecules.

(4)  separate twocells from;each other

76.  Match the following list.of microbes

importance :
Sacharomyces .. |Production of
@) | cerevisiae -0 immunosuppressi
Manascus . N .
®) purpreus (i) |Ripening of Swiss
Trichoderma ... |Commercial prodt
E polysporum | ) ethanol
Propionibacterium | |Production of blo
\(d_)hharﬂmnﬁ. ) chalesterol loweris

o)) ‘ A @ ® ¢ @@
arthenogenetic mode of reproducti o . . oy
p genetic mode of reproduction o it A , () G O @) ()
(2)  Presence of different morphic forms : aﬁaaﬁ . . S @ @) @ O @
i . . 3;[@{-ﬁﬁ;' @i[?' ﬁﬁ]ﬁ TR g co iii v 1 11
(). Alternation of- generation-between asexual W@ - g R
and sexual phases of an organism ) ! - @ @ ) @ O
P . g 3 . . .
R L ) . Y qiEeA & SRE e § i i dA s G s
\'2) \/\.v\.ullclILCUl d UIdSUCLITAIT AT T lULlll\-lwulé . | L) vy A% 7 A% ll)
post-embryonic development EIR ISR ’

www.FirstRanker.com -
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77.  Arrange the following evenls of meiosis in correct | 77,
ﬁequence : .
(a) Crossing over
{b) - Synapsis
() _Te'xgmiina]isation of chiasmata

(d) Disappearance of nucleolus
O Bode -

) b))
@ @)

) @ ) ((d)

possible with the discovery of -

(l) " Ligases’

2 ' Restrictioyﬂ enzymes
"(3)  Probes
NG se]ectéble markers .
79. Duringbio]ogica]'nitrogen fixation, inactivation of 79' ’
‘nitrogenase by oxygen poisoning is prevented by
(1) Cytochrome
) Leghaemoglobin
(3  Xanthophyil
4) C_airotene )
80.  Grafted kidney may be rejected ina patient due té s 80
(1) ' Innate immuine response : ‘
(2)  Humoral immune response
(3 -_ Cell-mediated immune response
(4) Passive immunerrespons‘e

81" ‘The body cells in cockroach discharge their

nitrogenous waste in the haemolymph mainly in 81.

www.FirstRanker.com

: - |
~ 78.  The cutting of DNA at specific locations became |

SCC

STl favmr i1 sreiell @Mamﬁsr
@ -

@ e shae (o i) "
o . e eE®. g O)
O swmms@ (v

() Femmsgw

0 & @

2 @), (d), (¢).

® Bhaod
@ @00 C .
A gva gan?

T

M

@ e ,

@) TORTIAHRE o
waﬁiﬁw%ﬁuwv
?@ﬁﬂﬁﬁﬁWﬂ%ﬁWWW%’
o o

@ Sifed

Wﬁﬁqw\_ﬁmm»

mﬁm‘mm%?
(V) e Wi orgfEa -
@ s (egEre) vioen s

'g@/ﬁwmwmmwm_

(@ Fie e s
e, e o) T e
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83.  Acid rain is caused by increase in tl
concentration of : -

(1) Osand dust

(2) SO, and NO,
(3 SOzand CO
4 COand CO

84. The wheat grain has an embryo v
“shield-shaped cotyledon known'as

(1)  Coleoptile
(@  Epiblast

(3)  Coleorrhiza
(4) Scutellum

85.  Among china rose, mustard, brinjal,
cucuinber, onloh and tulip, how ma

superiarnyagy ?

(I) Four-
@ Fve - - (
@) Six - ' OS |
@ Three . .
/
86.  Which of the following is not afi
- . skeletal system?

o
1) Locomotion ‘

2) I’roductlonoferythrocytes

(
(3)' Storageof minerals
" (4)" Production of body heat

87.  Golden rice is a genetlcally modifi
where the incorporated geng
biosynthesis of :

the form of : _ reiferes. & 9y w9 9 I A BW AT
(1)  Calcium carbonate 1) Fiewy SRR M Vitamin A
() Ammonia @ fm (@  Vitamin B
(3  Potassiumurate - k,@/‘ s e (3)  Vitainin C
(4) Urea @) z{ﬂm ’ (4) Omega3
82, Filiform apparatus is characteristic feature of | 82 TN SUEAY FRur! il M &2 88.  Chromatophores fake partin :
~ () Synergids » - W m 1 Respirafion ‘
)  Generativecell @ TSR () Photosynthesis
@) Nucellarembryo (3) e yo - B Growth
(4») —e—— —B—Growth

(4) Aleurone cell

wwiv.FirstRanker.com
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89.

90.

91

92.

93.
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Select the wrong statement :

(1)  Mosaic disease in tobacco and AIDS in
human being are caused by viruses

(2)  The viroids were discovered by D ]. [vanowski

(3  W.M. Stanley showed that viruses could hc
crystallized '

(4)  The term ‘contagium vivum fluidum’ was
coined by M. W. Beijerinek

A pleiotropic gene::

Apleiotropic gene-

(1)  controls multiple traits in an individual.
(2)  isexpressed only in primitive plants.

(3) isagene evolved during Pliocene.

(4)  controls a trait only in combination with
another gene

Human urine is usually: acidic because :

(1)  hydrogen ions are actwely secreted into the
filtrate.

(2)  the sodium transporter exchanges one
hydrogen ion for each sodium ion, in
peritubular capillaries.

)  excreted plasma proteins are acidic.

(49)  potassium and sodium exchange generates

acidity.

Auxin can be biéassayed b.y :

(1)  Lettuce hypocotyl elongation

(2) Avena coleoptilé curvature
"(3) Hydroponics

(4)  Potometer

Which of the following events is not associated w1th
ovulation in human female ?
AJ
(1) LHsurge
(2)  Decrease inestradiol

(3) - Full development of Graafian follicle

SZ0
4, T B A
(1) mml 4 T (IR
“fermal & FroEE @
Mﬂngfu A, g g AR m A0

o) W?qulﬁmwmw
mﬂJ,

(4 “contagivm v fluidum” 9 TR.2E&Y

ﬁv‘fﬁﬁﬁ_@mm

90. T FEHHE S
w/@aﬂ‘@ﬁ«mu—lmaﬂﬁwﬁ?wm

@ Wmnﬁtﬁlﬁlﬁwﬁm
3 mwmmmgmmn

-4 mwamﬁaaﬁh‘amaﬁ

R menwm%m o
(1)  TEENA AP gfwa w9 e dekad

ik

"oy Mt At A, Afean geito @
TR IS :

Hifsm s 1 fafToa O TEge rE A
@) Il e GeH e e g
@ 'ﬂﬁwmmﬁﬁmnm*ﬁm%‘r
' W’rﬁ%l

W@mﬂw_ﬂqﬁammw&%?

(1) gy SR % e
up/@@a‘ﬁ%mﬂ

@) weEavd

) R

/,,_ﬁ_\'\

9. Frerffign el 4 4 #m- mw@_ﬂ@wy

ﬂwﬁgjﬁj., —

) LiwEE (LaEs)e”

@ ¥fesid H

) T Yeeh 7 Qo fae
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97.

99.

Body having meshwork of cells, inter
lined with food filtering flagellated cells:
development are the characteristics of

(1)  Protozoa

(2)  Coelenterata .
(3)  Porifera

4)  Mollusca

Which one of the following hormo
involved in sugar metabolism ?

(1) Glucagen

(2)  Cortisone

3) 'Aldosterone

@ Insulin

Which of the followmg disenses Is c:
protozoan 7

(1) Blastomycosls
(2)  Syphilis

@

{4)  Babesiosls

Influenza

_Outbreeding ls.an important strateg ‘

: husbandry becauseit:

(1)  exposes harmful recesslve gen
eliminated by selection.

- (2)  helpsinaccumulation of superior

(3)  is useful in producing purelires c

4) - is useful In overcoming ir
. depression,

A childless couple can be assisted to h:
through a technique called GIFT. The f
this'technique s :

(1)  Germecell internal fallopian trans
{2)  Gamete inseminated fallopian tra

)
3)  Gameteintra fallopian transfer
)

4 Gamete internal fertilization and

{
{

Ajawless fish, which lays eggs in fresh
whose ammocoeles larvae after metar
return to the ocean is:

(1) Petromyzou
() Epiatretus -
(3)  Muyxine

4)  Release of sec-ondary oocyte

fodivr sigs @ Pt
fFrirstRanker.com

7(4) Neomyxine
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100. The structur?s that‘h_elp some: bacteria to attach to | ). qL'J'{‘J BEl ‘xf] EX) ‘-ﬂww 3 106. In angiosperms, .aueroSporog
rocks and/or host tlssges are: . i) ?1 i H’WFH T2 megasporogencsis —
M ‘Holdfast . 4{ ACEH (1) occurinovule
(2) - Rhizoids oy e (2} occurinanther
G Fimbriae . () e @ form gameles without turther
(4)  Mecsosomes ¢y itstrm _ (@)  Involve meiogis
101.  If you suspect major.deficiency of antibodies in a . . 7?\ Yy
person, (o which of the following would you look | W1 At faE AR quﬁ{ Fui a1 » 107. A gene showing codominunee has:
for confirmatory evidence? ST ST ¥, & e it F for Fresferfem 44 (1) both alleles indepenclently ex;
() Serum globulins {8 3y gra 2 - heterozygotc
() Fibrinogin in plasma (=g W (2)  onealleledominant an the othi
@) Scrumalbuins @ g [E2ERIEE () allelestightly linked on the same
@ Haemacytes o RURGR E (4) alleles thatare recesslve lo eact
: O 4) @sz' 108. The chitinous exoskeleton of arthrops
102, Inh femal osiol . leted until? T by the polymerisationof :
. Inhuman females, meiosis-Il is not completed until? |
v - \ Hcomp " | 102 s A, -1 e T R R v 1) lipoglycans
(1) birth _E:”T A . i
o (2)  keratin sulphate and chondroi
(@) -puberl { )
(») . puk ty o (ny () D-glucosamine
(3)- fertilization \_/(2)/ LRI @ N tyl glucosamin
[ © ‘ - : 4 - acetyl glucos v
(4). uterineimplantation OBRELES
. (@) e A T _ 109. Theimperfect fungi which are decomy
103. Which of the fo]lowmg layers in aimF@l_{_o\]hcle is - and help in mineral cycling belong to
acellular ? _ /m‘)/ Wﬂﬁﬂww Mﬁ?r (1} Ascomycetes
. . - -
(1) .Zona_ pellugda ?IFﬁ E . (2)  Deuteromycetes
?)  Granulosa oy M Wﬂ@"‘fﬂmm ) ()  Basidiomyceles
(3)  Theca interna @ @) IgerT (% ) () - Phycomycetes .
{#  Stoma - o] $et (e el _ :

_ T@ wgg’m (difsen) 110. The wings of a bird and the wings of 2
| . 104. In hlS classic experiments on pea plants, Mendel _ (1)  homologous structures an
! did not use : 104, RS q‘m’[ T AT eyl wam d Hew A faww convergent evolution

Iy  Flower position 3 Tg'? e ? (2) gomologousl sjlrurtures anc
R 'q:,"‘[ fefa | ivergent evolution
(2). Seed colour (0 R,
@) a’m Bkt (3) analogoug structures and
(3)  Pod length - Wm convergent evolution
(4) . Seed shape W . (@) phylogenetic structures an
A1 B SIBR divergent evolution
105.  Which one of the following fruits is parthenocarpic? | 195, fiym=ifarfgs § @ $19 w 2?2
. o ’ ’ 111, Flowers are unisexual in:
()’ Banana : Exail
. S (1)  Onion
(2)  Brinjal (). R @ P
ea
3 . L e
( ) Avpple Gy w (3)  Cucumber
(4)  Jackfruit 4 HEA o
- - t—Chimerrose
www.FirstRanker.com
s . ' r————, T - S
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112, Increase in concentration of the lexicant w ‘ 117, arEiE O w9 e E Aied Jgd @) 901 el H7. Which one of the tollowimy, hormone
successive trophic levels is known a: ¥ - ~ synthesised elsewliere, islored .nd relea
(1) Biogeochemical cycling N P master gland ? : -
2) ,Biomagniﬁcanon ‘ \_j_:/fjm i j‘ e (1} Dvlelanocylvhln\mh!in‘y_ hormone
(3) Biode_teriorz;t‘iqn ,.m (2) Antidiurelic hormone
4)- T‘éiolransfo_rmatién (:‘) RE (3) Luleiniz.ih;; harmone
Bk (4)  Profactin
113.  Destruction of the anterior horn cells of thespin, : . )
cord would result in 10ss.of - ﬁmmqﬁm B 5T 118.  Read thedifferent componuents [rom (a) te
list given L=low and tell the correct or
. Ilﬁ‘ﬂ Tq {agq [%T{aﬂ 7 o 3
: M mlegra_tmglmpulses Bl ET‘TI components with reference o helrarrange
(2)  sensory impulses H’Wﬁ?ﬁ (genfe 2 fad outer side to inner side ina wuody dicot
{3) voluntafy motor impulsebp Wgﬁg} foaaff #f (@ Secondary corlex
. (4)  commissural impulses 3) mwm : ) \Wood
. . o ¢)  Secondary phloem
114.  Roots play insighificant role in absorption of waler @ FHT{]"T (d)  Phellem :
in: - .
114. Trod 92 w16 99w 1§ 09 @;ﬁ %7 The correct order is :
(1) - Wheat - R SRR E : ’
o s 0w . M @60
unflower
' : s @ (@D (b))
3)  Pistio @ e ]
© _ G @ b))
@ P AT @ @00
115.  Match the columns and identify the correctoption. : 119:  Which of the fol I()Wlng Iulnts would
Column1 Column I 115. W & a“r‘ fq?«rﬂ Fifs ol wa T fashev 9T movement ? )
(@ Thylakoids . (i)  Disc-shaped sacs m &HAg [ FHew 1 1) Ball and Socket jotnl
: Colgi apparatus- . . . 2 Fibiousjoinl
o . o () - OTEERS () Ties SuERw H fwgm (@ Fibrousjc
) Cristae .-(i))  Condensed structure g ! . s (3)  Canilaginous jolnl
. of DNA : :
- . PO o . L (4) Synovialjnfn!
(@ Cisternae " (ili)  Flat membranous sacs © (i) ~ DNA $} Huf 6=
‘ : instroma w4 =92 feetrTa #g 120.  Which one of the fnlluwlng is not app]
(d)  Chromatin (iv) Infoldings . in . - ﬁ . : " RNA?
! mitochondria i ()  Chargaft s rule
@ b @@ @@ E.)) ) Complementary base prlring
O ) @) G @ (i) (3 5 phasphorylund ¥ hydroxyl end
@ @ @) @O G ) i) #)  Heterocyclic nitrogenous bases
G @ v 6 o - _ :
@ i) G W) (i) . 121. 'Doctors use stethoycope 1o hear the
iy (i iv) (i : "
, i ) . - - produced daring cach cardiac cycle. Th
: C 16. “@i@—m Easd M—M% ER - sound is heard whon .
e :'(nj:?etllg]tf];géogre;sotrgesrm()f ﬁ:ﬁ:’msa“mn of-genetlc &F—IEILFGF Wj%»_aﬁ FH 1 TEI 1) AV node reveives sighial from SA ne
3 allest : ) :
; : - (1 T™ES , e, S (2 AVvalvesopenup
{I)  Chromosome, genome, nucleotide, gene - S
: : 2 o o, = SHm, ?] EFM <3S 3 Yenricular walls vibrate due to gy
) Chromosome, gene, genome, nucleotide L:g,:/ ©) of oo from e g
(3)  Genome, chromosome, nucleotide, gene TE f @y Semilunar valves close down after t
(4) - . Genome, chromosome, gene, nucleotide - \% S O, T, "t‘ﬁ"q!c'i\" : T T voRReTR Trom ventricles
| FirstRanker.com
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. . . ’ _ o . N {126, Which of the follo Ay e e suilabl
122, During eccloglcal Surcession . //'az/ ‘llmlﬁm@ﬂj §_ & QA of SLQ pollution m the envivonment ?
(1) the changes lead to a.community that is in [ Uy WU T 1 I WEeAL & SR St vt 1 @) Fungi
’ near equxl}ihnm?n with the. en.vi.ronmenl and ' & T ¥ T B 2, W TR Fe FGil Tung
s cailed pioneer community & @  Lichens
2y thegrad ual and pred.ictab.‘.e change inspecivs /ﬁ_ﬁj—@}ﬂﬁ—@m ()  Conifers
composition occurs in a given area
- S S HE w iRadd e Pﬁnaa @ Algae
(3)  theestablishment of a new biotic community #
“is very fastin its primary phase. A——
. S 3 . W EIRIEED W o 7 ety g - @ 127.  Satellite DNA is important brcause It :
{4)  the numbers and types of animals remain . -_’m Wﬁ'd ﬁ?ﬂ?c _
constant. _ (1) codes for enzymes needed
) (@) wiqeli =) e o faed frer Tl %ﬂﬁ/ ] * replication.
123.  Inthe following human pedigree, the filled symbols - . . ] . (2)  codes for proteins needud in cell
represent the affected individuals. Identify the type. | 123. TreAferiga A el |, W gT W yoifen oafe : _ ’
of given pedigree. F1 frewm H1d ) @ i FwEd & gER W (3 shows high degree af polymc
o . population and also the same
) ‘ &L : o polymorphism in an Individua
® 6‘1‘1,,‘ N heritable from parents to chlldrer
) & | o (4} doesnot code for proleins and s
m ETO D members of the popuiation.
oy (5 D ' ‘
) H ﬁ h 128. Industrial melanism s an exampleof ;-
(1v) é ( ) : (1).  Neo Lamarckism
) - C
(1) - X-linked dominant — (2)  NeoDarwinism
: : (1) X-WEer gsmeE
(2  Autosomal dominant . : - (3)  Naturalselection
‘ . o @  SfdrEh g
(3)  X-linked recessive : (4) .- Mutation -
4)  Autosomal recessive
- ] et Ef A 129. A column of water within xylem-vessels
. _ does not break under lts welght because
124. Balbiani rings are sitesof : . 124. WFﬁ ERCRSC - )l e
: : (1)  Positive root pressure
(1)  RNA and protein synthesis (1) RNA 3t W %
R 2 Dissolved sugars in waler
(2} Lipid synthesis @ fafue gwemm & @ B
. N 3)  Tensilestrenglh of waler
(3} Nudleotide synthesis 3 ?ifémﬁmasaqu _Qa' ® &
) N . L 4 Lignification of xylem vessels
(@)  Polysaccharide synthesis () ICHHRTES HyeTw & @ & y
i . ) 125. 3@ FOFH I H AH 5 e f T fufwei % 130, The introduction of t-DNA info plants in
125. Name the pulmonary disease in which alveolar = . ﬂ_;ﬂgq oy ' . o
‘ surface area involved in gas exchange is drastically ! m A wﬂq (1) Allowing the planl roots to stand |
reduced dué lo damage in the alveolar walls. M aﬁmm 4
) ] . (@ Infection of the plant by Agro
(1} Asthma - 0 e tumefaciens
(2)  Pleurisv @ Eﬂ_ [[_Z o) Altering the pH of the soil, then heat
- AR the plants
(3)  Emphysema \—’@/ ) P )
A A Laposingtheolantet 1d fora br
@ Pneuraowa SR ML o T ccoalona
www.FirstRanker.com
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134.

135.

136.

’(i,) Stromal matrix
v Thylakoid lumen
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Pick up the wrong statement :

(1) - Nuclear membrane is present in Monera

(2) - Celiwallis absent in Animalia

(3) Protista have photosyptheti_c and
“heterotrophic modes of nutrition

(4) Somefungiare edible

take place at:

{3)  Photosystem1
“) I’hotosystem‘H

" Which of the following immunoglobulins doe

constitute the largest percentage in human milk?

o IgG
@ Ig D
(&N

@ Ig A

Which of the following pairs is not correctly
matched ? )
Example'

. Mode of reproduction
(1) Conidia . PenicilliuTn
() Offset Water hyacinth -
(3) Rhizome Banana
{4y  Binary fission . Sargassum

The UN conference of Parties on cllmate change in
the year 2012 was held at:

(1) - Warsaw’

(2)  Durban
@ Doha
@ Lima

In the spectrum of hydrogen, the ratio of the longest
wavelength in the Lyman series to the longest
- wavelength in the Balmer seriesis:

st

In photosynthesis, the light-independent reactiony !

. FirstRanker.com
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137, Theencrgy of Uie envwaves s ol Hhe order of
To which part of the spectrinn docs it belon
@ y-rays

2y X-rays
@) Infra-rod rays
4)  Ultraviolet rays
138, An electron moves on o utraight line pat
shown. The abed w o coll wdjacent 1o the
~ electron. What will be the (rection of cu;
any, induced in the coil ?

b d
s

e e

X clection Y
(1) Nocurrentinducid
(2) - abcd
(3) adch )
{4)  The current will reverse Its directior

electron goes past the coil

139. - ‘The cylindricol tube of p spray pump has ra

one end of which has 1 fine holes, each of re
Ifthe speed of the fiyuid In the tube 18 V, the s
the ejection of the liquid through the holes i

V2R
1
O~
) VR?
( ) “2r2‘
X VR?
(. ) I‘II‘2
4 V_Izz
@ 37

140.  The Young’s modulus of steel 14 (wice that of
Two wires of same Ix‘ngll\ onil of same area o
section, one of steel angd wnother of bra

. 5 suspended fron the sam roof. 1 we want the
o 27, . ends of the wires 1o b i (he same Ievel th
s weights added to the steel and hu 3
) 5 in the ratio of :
(1 %
3 2 2 1:2 A
®
. 3 2:1
27 ; '
o Z j, @ 4
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SCO SCO
o SN
- Yo ] MA Asource of sound S ematting, waves of
; Avatd 3 TF W@M@W@W@
17 % 0 £

10O Hz and an obaerver O e locate

Fnd lz’ﬂ:ﬁ‘_@-_q‘}?_ & Qﬁ—dﬁﬂm Hﬁﬂ‘!ﬂ 1‘1:@: ST distance tromveacvother Hhesouree is mi
W'ﬁ{ﬁﬂaqd Ft | TR “R,r\m NMELC] a speed of 190 me Dt an angle of 60
4 : ! .

A 24
141. A pétentiorheter wire of length L and a resistar

are connected in series with a battery of ;r{! .
i i wed -
and a resistance rj. An unknown e.m.f. E s balajwuy

; ire. R N ,  e——— 3 - source obsereer ine as shown in-the fi
talength ] of the potentiometer wire. Thee.mT. i} A E source o s whown in-Lhe fi
3\/:111 );e)ggivenbyi P \S = :’q‘ g@@w age ﬁfﬁW ETHT gl L= observerisatrest e apparent fregquenc
. ) e M R : HqE 2 _ ’ 9\\_ by the observer feelucty of sormd in air 2
CLEr ' . : = " 6’)
@ ) ) R v -
M ) &y v, l n
T LEO T . . ' / -
N 4. (2) / 2
. Epr _l. : E, T I.' =
@y (r+n) L - g f
. c+n) L 7%
Egl - Eopl
=N . 0

142. A paticle is executing a simple harmonic motion 2. e AT T w0 g R e T @ wene ? N
Its maximum acceleration is a and maximum ——— . N . z o
vslor:ity is B. Then, its time period of vibration will wm‘ﬂfﬂﬂii' an. g g v'?ﬁ’ ki —_— ) : g 7\ % /g ‘\(
be: - I " eI B - o ' ¥
A : '\//./X Y 145, An automobile moves on a rdam\ a

I~ !

’ v - IR )
2 - 2np R 54 kmh 1. The radius of its wheels Is 0.
a T‘ 7 \)‘ \ - h - o a- Y/“ . the moment of inertia of {he whel about
y @ N o A rotation s 3kg m2 If the vahicle ik brought
o ‘\[ e E p? : . 15, the magnitude of average torqué tra
o B v : _ ‘ Q/Q)/ - . ’ : by its brakes to the wheel in 1.
) 2 : @ :
. o ‘ o _ v _ o Y
E\Mﬂ _ (1)  286kgmls-? ec
43 - .
® 3 \ (). 6.66kgm?s-2? A
" . Mo

g b

@ 858kgm?s 2
0) | . .
(4)  1086kgm?s ? 0 - 6’
143. vaectors./_%) = coswt i +sinwt j and 1 \{ ! .
B | 46. A rectangular coil of length 0,12 m and wid

A wt 4 - ime havi ; -
“B=cos®™ T 4sm j are functions of tim having 50 turns of wire iw sunpended vertic

uniform magnetic field of mtrength 0.2 We
The coil carries a current of 2 A, If the plar
coil is inclined at an angle of 3" with the d

then the value of t at which they are orthogonal to
each other s :

T t=0 of the’fie]q,_ thg torque requlred o keep th
stable equilibrium will b
' P
@ t=— O  012Nm % s P
4w : " N
@ 015Nm + (/( “Fsﬂ
! _.T .
G e Gy 020Nm <} .
. AP
@ T= T _ @ UZINm \ \V
w . L. . 'VY_ ) . \ "'
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A , 20 s _
o . qfs—_m, i 1T (60, in the given figare, o dbode Dis ¢ ted
allel plate air capacitor has capacity ‘" | 147, UF FHRT 4 - s ext 27l ts : ! ‘ 3 -‘ " lﬁlﬂ’ﬂ"ece
147. A par P > 2 i - g‘ o W B AR ernal resistanee R - IO f2and an e.m f. of
distance of separation betvs@en plaff_ES'lt.; ‘Hl' *‘ USR] % ard ‘ﬁﬂ?ﬂ_‘% T AN * Ifthe barrier potential developed across the di
potential difference’V' is applied betweeﬁ e p alel\\ 3 afr C ® @, 9! T e a@@@m . 0.5V, the current in the clretilt will be:
Force of attraction between the plates of the paralls A — — ' D
plate air capacitor s \ ¢ \j’l" \ ’ . ——» - /,\ml
. - C2V2 1 y R
v’ T ) 7 e \
s 2d :
2d S (> i
- ) . c2y?2 2,@‘ ' 35Y
n &V \vh @ 54 )  3BmA
2d g @ _ ) 0/'1/ 1o @2 . 30ma
o [ T = o oo
B S5 ?\ - 2d 7 &V (4 20mA
, .
. } @ cv 151. A remote - sensing satellite of earth revolve
cv? -~ . d circular orbit at a height of 0,25 % 106 m abov
m o ;
: surface of earth. If carth’s radiue s 6.38 %"
. L and g=9.8 ms~Z then the orbital speed
v ‘ . : _ma_@a@@ﬂmﬁmm “satellite is - (\\,\/
wo vessels separately contain two ideal gases A fmp Wi g AFieE, T 3% T (1)  667kms™! N=-
148. Two p y ne pressure of A AU el A7 AT AR T
e b e AN LD et o Tamse o i T
being twice that of B. g ‘ > TE i "85 -
d:;nsgi;ty of A is found tabe 1.5 times the density of B, B TE R 1.5 77 90 ST B2 ﬁ?/ﬂ;’—% FR (3). 856 kms™! W v
The ratio of A TFSEEEE: C\ @ 4 913kms-! .
M - 1 152, The position vector of a porilcle R nsafunct
s ?& 2 timeis givenby: R -
ve , \ -
| fﬁ - i} ()b 2 R =4sin(2wt) i + 4 cos(2mt) ? Q’ }
‘ﬁpf 7| /3 Where R s in meters, t Iy in seconds and 7 a
L Ve denote unit vectors along x-and y-direct
q r)} 3  respectively. Whichane of the following stater
. _is wrong for the motion of particle? ‘
N\/ - (4)@/ ) (1) Pathof the particle Is aclrele of radius 4 n
‘\\we ‘ K ) ‘ 2)  Acceleration vector |8 along fﬁ .
: e s, A S 4 el w S LA ﬁ% '
L _ e i 11149, & St el . (3)  Magnitude of acceleration vector i
. Asatellite S is moving inan elliptical orbit arounc e v it ' on vector Is
: 1 (hzjearth. The massgof the satellite is very small i W"qwﬁ &7 g wherewis the velocity of particle.
compared to the mass ot the earth. Then, J am%v_’lﬁ;:{ (4)  Magnitude of the velocity of partic
) O o ) 8 meter/sccond
(1)  the acceleration of S is always directed B (\((]) S it T ad gl %ﬁ?&ﬂ( T _ / ‘
towards the centre of the earth. — o 153, Astringis stretched betwoeen(ixed points sepa
i (5 shout thecentre @) ‘zwg of@:, § 6 FUHA an &t o by 75.0 cm. 1t is abserved to have reso
()  theangutar momentumo about the centre e g e 8, T af. IO T frequencies of 420 Hz and 315 Hz. There as
of the earth changes in direction, but its ﬁv T e other resonant frequencles between these two.
magnitude remains constant. wa & lowest resonant frequency for this string is ¢
. o : . ‘ ; 1) 105H AN
@ the total mechanical energy of S varies 3 SFI BN e o] 1 AT WA 1Y A (2) . z (I/K‘ M
__periodically with time. wq 1§ ek O T 8 @ 155 Hz
65+ < ﬁ
. remair stant - -~ \ S : ‘
(4)  the linear momentum of 5 remains cons Euvg‘l/’ : ]}’@? Igaw i (RA) fe R @ B (#1052 :
o agnitade. WWW. RaRk&r.com : A
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154. Point masses m, and m, ate placed at the opposite
ends of atigid rod of length L, and negligible mass.
The rod is to be set rotating about an axis
perpendicular ta it. The position of point P on this
tod through which the axis should pass so that the
work required to set the rod rotating with angular
. velocity wgis minimum, 18 given by :

/é 2 ge 3 A L SR e o T E
ﬂﬁfmmmmwr&xﬂ e

@

155. At the first minimum adjacent to the cen
- maximum of a single-slit diffraction patteg

phase difference between (he Huygen's wavelkyfr

the edge of the slit and the wavelet from the midgoint

of the slitis:

.oom
n —8_ radian

)} —E radian

>(3) —121 raaian

4 w radian

r -—21 —67 —12k Thevalueofuforwhl

1
angular momentuni about originis conserved is

156, A force F = oi? + 31 + 6k is acting at a pony( _156/
o |

- LA :
p 1 b / //ﬁb\)

520

i, fifs T@ 7 ¥ o T 3 i & T,
‘\wgq& oA B, aﬁwgwﬁaﬁmﬁip
A Qe T ¥ (aia Aed) | A Jag P R
Featiy g Fod ) T 3 g8 B 0
W'WWW@“'%\:"‘

e - mﬁmaﬂ%aﬁaqwzﬁW%

w420
gy e .

— Y
o 5 e

o

(4) o e

ﬁﬂ, T —21—6;—12k T % 59
Foai+3) +6k?{ﬂﬁli\ﬁ7"3§mﬂ={7
faﬁqafazaawﬁa e T Hem @

o 1
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157, Pwoparticlos A wud B, moye with conste
2y oand ey AL e it monent b
) .
vectors are v and B rospectively, T

158,

159.

160.

for particles A and B {or thelr collision

- o . s

)

- 3 ’ »
Y- o o
AL S, 1.
(2) — - » -
n - Un ™
— - Yoo
® 5oo=nw

— - - -~

] BX Uy =X,

A nucleus of vranium decuﬁ Al rest in
thoriumand helium. Then:

(1)  The helium nucleus has less kin
than the thorium nucleus,

(2)  The helium nucleus hns more kis
than the thorium nuclous.

(3) . Thehelium nuclens has less mom
the thonum nucleus.

(4)  The helium nucleus has more
than the thorium nucleus,

Two metal wires of identical dime
connected in series. If ¢ and
conductivities of the metal wires respé
effective conductivity of the combinatlo

'01 gy
) ar + ‘ <
1+ 07 4, <
20y 0y L
@ e e
1403 — {'
wrm O
(3) 20; (1] \
o) 0y A/_,_ -
@ o «

Light of svavelength 500 nm is incident
with work function 2.28 ©V. The ¢
wavelength of the cmitled electronis :
(1) <28x10-12m A

() <28x10- 1

({ ' ?
@)  <28x10-°

G 2

(#)  zero

(4) 2 28%10° Y m e




161.

{Take gas constant R =8.3 JK =1 moal -}

S () 85JK~1molt _ C
@ 80JK~Imei-1 c o < w}\
S@ 75K tmoimt =X : é}\
@  7.0JK~1mot 1 (é

- 162.

163.

164.
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4.0 gof a gas occupies 224 litresat NTP. The spucitx
heat capacity of the gas at constant valume
153.0JK " Tmol~ 1 If the speed of sound in this ps
at NTP is 952 ms~), then the heat capacity .
constant pressure is

A series R-C circuit is connected to an alternating,
voltage source. Consider two situations:

(@ -When capacitor is air filled.

{b)  Whencapacitor is mica filled.

Current through resistor is i and voltage across
capacitdr is V then :

)

(l) Va => Vb g \0 ’)(.
Q) V<V . /%
SRR C =y

@ 0>y

A plank with a box on it at one end is gradually
raised about.the other end. As the angle of
inclination with the.horizontal reaches 30°, the box
starts to slip and slides 4.0 m down the plank in

Two stones of masses m and 2 m are whirled

horizontal circles, the heavier one in a radius —

and the lighter one in radius r. The tangential speed

» FirstRanker.com
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161.

Y

N

162.

163.

" 2.0s. The coefficients of static and kinetic friction |. . s ! . . B
between the box and-the plank will be, m'(‘q i %’\aﬂt 405740 mgl 7 gt *ﬂi{:?ﬂ
respectively : : 9 X EaE ¥ e wdfaw e v ﬁiz; ;_)_.IIJ@

A m)&g_g ;7% "L e A »
5 TR A
. ~
e I gz T
mg. x“f .
g
Q) 04and03 — v
2} 06and06 @1 04703

. 06and05 @  0.67506

@ 05and06 @ 06705
@ 053UW06

SR 50 K mol ! #1 A, 38T

a7 53, feom 7@ w fafire o T

(R=83]K~'mol=1) ~ |

M 857K~ Tmol™! R | (;;\
wrf 80JK-!mol™l Coy = rd

@) 75K 'molvl T v

() . 70JK~Tmol~!

ey v, >V

164, @ varﬁ%awgmw, ‘mvm‘.rﬁ_i 59

- \,

..« 5C0

AT e 2 W, (T A0 g LB
arrs 224 Py 31 R e wOgEE ! fafre-

AT 4§ STE 9T, W ) 97 952 ms 1Al 99

w.%wm ol gl et & AR R Ty
() ¥, Wi A sgfm Oor &y

b ¥ A m aaie 0 VL
8 vRvy 4 yRAE 8 e fage @ i

Hufea & fodl & 91 fsera v Qs
e
(‘1). Va = Vb ()’

s

d

V, <V -

@ C o

(4) In>!b_

ferdll T % UF R uE g @i ) @ F
fatan fit-offt =R A SR B o T 3
difosr A 30° F T W, 979 2 1 3R FrdH

& e 7ok TR 1 Bea % e &R qﬂ:%

166.

169. If potential (in volts)

www.FirstRanker.com
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T e
v
5CO T
165, The coefficient of perfortnee of a refrigerato
If the lemperalure inslde freezer is’ = 20°C
température of the surroundings to whichdt r

heat is — E 2=
- 1.8, - -

N 2\%(“% 53). o =n

@ waC /@ —

@ aC [ryes - -7

@ nC J; I T ) I/Q('

Anideal gas is compregsed o balf tts Inleial val

by means of several processes, Which of the pro
resulls n the maximum work doneg on the gas

75

1) Lothermal ) :
@ Adiabatic ' M g pue %’\h
(3)  Isobaric G)f v
(4 Isochoric D X My 1

167, Aball isthrown vertically downwards ffom.a hei

- 0of 20 mwith an inifial veloelty vy, 1t collides w
theground, loses 50 percent of 8 energy in collis
and rebounds tothe same helght. The Initial velo

vpis : (Take g =10 ms -2

1) 10ms-? =
@  14ms-!

@) 20ms-?

@ 28ms-1

168 Onafrictionless surface, a block of mass M movir

atspeed v collides elast/cally with another block
same-mass M whichis inltially at rest. After collisic
the fxrs!‘block moves at ah angle § 0 its initi

. direction and has a speed g- . The second block
speed after the collision Jg :

T B, RPN
2 - g0t
) _ :
@ 5
. N
o I
3
4) Nk

In a reglon is expressed as
V(x, Y. 2)=06xy ~ y + 2yz, the electric field (in N/ C)
atpoint(1, 1,0 {5 y,

oflighter stone is n times that of the value of heavicr . . T TR R n o
stone when they experience same centripetal forces. ' W e ?" Wﬂ'a EEL‘:M: . (U _[61 974 k]
Thevalueofnis: P SARA A \6@ ““"“W@_‘ﬁﬂ_m . R b
M 1 A }7 TEIAIF R TH G nFITRE N0y @ (37457 1 2]

— v : i 1 Iy i : n L
@ 2 \\"f 2 2 X\ 1 ‘{\\(i\d/ ) _(6.' 457 2“ \J~— 0
¢ 3 v : _ @ 3 \ ~— X . :
CH g ~ o @ (37,47, %) N\
g v ,-\/ W\’ N
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170.

min
4
1) 3
, 2
BRI
121
B
gy 2
@ 121

171.

o172,

173.

T . I .
minima in the interference pattern, M3 is:

* of uniform magnetic field B, moving atright angles
_ the particlesis equal and the kinetic enefgy acquired .

. particle will be:
(1) iMeV

(
@ 0SMev \'\E
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Two slits in Youngs experiment have widths in the
ratio 1 :25. The ratio of inlensity at the maxipa and

The heart of a man pumps 5 litres of blood through

the arteries per minute at a pressure of 150 mm of

mercury. If the density of mercury be

23.6x103kg/m>and g = 10 m/s? then the power of
heart in wattis : )

1 130 AP
@ 170 \<o\}\\"f
3 235
@ 30

A proton andan alpha particle both enter a region

to the field B. If the radius of circular orbits for both
by proton is 1 MeV, the energy acqujr; d b{ thealpha’
W E ]

The input signal given to<CE amplifier having a

2. 4MeV

49 15MeV o\ e

voltage gain of 150is V; =2 cos| 15t + :3[) The

corresponding output signal will be :

www.FirstRanker.com

/ N
, \ s ({s SCO
170. A1 & & w@m #3 (diergai M

s 1: 25§D W@, el ed ¥ sfeare 1
Ferdl ¢ Tnax = .

' 4
Mg
w/ 2
)3
V3
& 9
© 49

171, et =R F1 ged, WY @ 150 mmn IRE 9@ W,
5 fre xR Wi e w1 % 31 9, RS F A
136 x103kg/m3 TN g=10m/s2 T D, I F TfA

Eick: A . 7y <a
@ 150 g \ g/D \f\\gﬁ‘{\ >( .
@ 17fe K1.

@ 23 '

@ 30

www.FirstRanker.com

SCO
178, 1€ dimensions of critieal velocity o
. . J I
flowing through a tube apy expressed a
where m, pand rare the cacflicient of v

liquid, density of fiquid aimd rdius o
respectively, then the valies of v, yand .
by: ,

1 L1

@ -1, 1

B -1 -1 9' ¢
@ -1, -1,

X
, . \ i
175, Acircuit contains an ammeler, a bﬂ%yol

aresistance 40.8 ohm all.connected (n ser
ammeter hasa coil of reslstance 480 ohm an
of 20 ohm, the reading in the nmmeter wil

M 1A
@ 05A L~
(3 0254 9 ol
@ 2a V&%’c i

176 Water rises to height ' in capillary tub

172, T P2 70 U e Torell @& wAm g R

g Ry A, 2wl 3 R, g wee
\,\WMev B, Wi@ﬂﬁﬁﬁiﬁfﬁ :
GO My R
@ 4Mev Q m
B 0SMV  n o \ﬁf
@ 15MeV
173.. T4l CE (vafi Tueis) wad® @i deedl-«
15031 3ue Flw farer (W),

v, =2cos[15t+ g]% , o Fpl famw €

89 8 % wm A wAn R §1 $ T % fewm 83.8]

length of capillary tulw abxove the surface of
made less than ‘I, then; . - .

(1) . water does not rise at all,

(2)  water rises upto tle tip of capillary tu
then starts overflowing like a fountai

{8} waterrises upto the top of capillary tu
- stays there without overflowing,

4 waler rises upto a point a llttle below
and stays there,

177. Inanastronomical telescope in normal adjus
astraight black line of lenglh |, is drawn on
part of objective lens, The eye-piece r’orms‘
image of this tine. "I'hc longth of this imageis.
magnification of the (¢lescope s -

ding . L
47 ) ' n -

300 cos[ 15+ =T b e '
) _cos[l_vr 3 } L - _\j’/_’ 1) _300cos[15t+ T} C’.f’g\%/' | : j;/
' (150« T - e VRS @ T '
@ »300C05[15‘.‘ 3‘] \llvr\g @—*G @ 300cos[l:)t+ 5] ‘ \l\/ 7[ , . [/
5 75c05[15f+’27“} 3 N FLS& 75cosv[15t+ 2—“] | '\Q\’G/ﬁ ® §-

g = L N .

P Rk N & . L+d

(4)‘- .Acos[15h- —6—J N o / ® L-1

\g_\[(‘; 2cosf 15t + 57“
q.F%sl,Rg_'ﬂ_éefL* (zo\o .

4
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180.
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The value of coetficient of volume expansion of
glyoerinis 5x 1077 1070 The fractional change in
the density of glicenn for a rise of 40°C in it
teraperature, is:

o 0010 (( N

2 0015 W\ e

- F)« - \(

3 002

M) 0023

A photoelectric surface is illuminated successively

L : LA
by monochromatic light of wavelength hand —. If

the maximum kinetic energy of the emitied
photoelectrons in the second case is 3 times that in
the first case, the work Junchon of the surface of the
material is : .

(b= Planck’s constant, ¢ = speed of light)

=
A

(ORI
? - _i"_c
@ ZA
LS
$) \
w  2he
b }\

A beam of light consisting of red, green and blue
colours is incident on a right angled prism. The
refractive index of the material of the prism for the
above red, green and blue wavelengths are 139,144 -
and 1.47, respectively.

A

Blue K
Green
Red
45
B C
The prism will :

(1) separate the red colour part from the green
and blue colours

2) e parate the nlue colour part from the red ar 1d
green colours

31 separateali the three colours fromone anolher

4) notseparate the three colours atall

. FirstRanker.com

www.FirstRanker.com

178, frereeiE @ AP W s ax 04 K1 3 aa
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(1 o010 e
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@ 0025
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179, amﬁwqua &S F, FHI: mzw
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7o W H, el Tm A 3N T A, 39 % ¥ e
FIH Ge T h =T RO, ¢ = THIF F137)
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e
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o 2he

@

180. U WahI FoRTore, e, B a9 | h A an
femeomget fneft waniofl foon T amafe g (
a@awmwmwﬁmmm e, 114 A
el I 139,04 147 81 A,

A

e
T ——-
Rt

45
B C

g e - v
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am) L

@ foEogs & 99 1 um e o= I € g
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